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f (X) =ovvx 2n | 1 | -1 (0,2n| =m [n,27] [0,7]
f(X)=cvvx+4 2n | 5 3 (0,2n] = [n,2n] [0,71]
f(X)=ocvvx -5 2n | -4 | -6 |0,2n| =® [n,27t] [O,n]
f(X)=covx+9 | 2z | 10 | 8 |0,2n| = [x,27] [0,7]
f(X)=cuvx -8 2n | =7 | 9 (0,2n| = [n,27] [0,7]
IE' f(X)=ocvvx+a 2n |o+l|o-1(0,2n| = [n,2n] [O,n]
f (X) =—cvvx 2 | 1 | -1 T [0,2n [0,n] [n,Zn]
f(X)=—covx +6 2 | 7 | 5| m |0,2n [0,7] [n,27]
IE' f(X) =—ocvvx -2 2n | -1 | -3 n |0,2n [O,TC] [n,2n]
f(x)=—cuovx+5 | 2n | 6 | 4 t |0,2n [0,7] [r,27]
f(X)=—ovvx-1 | 2n | 0O | -2 n |0,2n [O,TC] [n,2n]
f(X)=—ocvvx+a | 2n |o+l|o-1| = |O0,2=n [0,7] [n,27]
f (X) =3ovvx 2n | 3 | -3 (0,2n| = [n,27] [0,7]
f (X) =4ovvx 2n | 4 | -4 |0,2n| = [n,27t] [O,n]
f (X) = 9ovvx 2n | 9 | 9 |0,2n| = [n,27] [0,7]
f (X) = 7ovvx 2n | 7 | =7 (0,2n| =m [n,27] [0,7]
f (X) = acvvx 2n | a | —a |0,2n| =m [n,27] [0,7]
f (X) =—6cvvx 2n | 6 | -6 T [0,2n [0,n] [n,Zn]
f(X) =—2cvvx 2n | 2 | -2 n |0,2n [O,TC] [n,2n]
f(X) =—3cvvx 2n | 3 | -3 T [0,2n [O,TC] [n,2n]
f (X) =—50vvx 2n | 5 | 5| = |0,2=n [0,7] [r,27]
f (X) =—aovvx 2n |a+l|o-1| m® |0,2n [O,TC] [n,2n]
f(X)=4ovvx+8 | 2rn | 12 | 4 |0,2n| = [n,2n] [O,n]
f(x)=3covx-5 | 2n | -2 | -8 |0,2n| = [n,27] [0,7]
f(x)=6ovvx+1 | 2n | 7 | -5 |0,2n| = [x,27] [0,7]
f(X)=2ouvx—-7 | 2n | -5 | -9 (0,2n| = [n,27] [0,7]
f(X)=—Toovx+2 | 2n | 9 | -5 n [0,2n [O,TC] [n,2n]
f(X)=—4oovx-3|2n | 1 | -7 | = |0,2n [0,7] [n,27]
f(X)=—9cvvx+4 | 2n | 13 | -5 n [0,2=n [0,n] [n,Zn]
f(x)=—6ovvx+5 | 2n | 11 | -1 | = |0,2n [0,7] [r,2n]
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f(X)=4ouv2x-5 | = | -1 | -9 |0,=n g [g,n} {0%}
f(X)ISG’UV%X—I-\?) 8t | 8 | =2 |0,8n| 4n [471,871] [0,475]
() =—cov’x-3| 5z | -2 | -4 | =X |0, 5n 0,2 T 5p
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